LPH REARFEANER

R7.4~
IEH = Fivi A% & F
1 i B ln 1= 250 30000+ 1204 B=250
2 HEUSEESE | 148 100/ 120001207 H =100 (HEAR—R-EFHER)
3 SEIH RAA—S— 158 166 20000+1207 B =166 (EU{ft&iA)
4 HRRIAR 2K 156 15000 X 2.5K+2404 A
5 HARRERE 2K 156 M 5000 x 2.57 x 3[@] +~240+4 H
6 ETERE 1= 240 D4E1EEAE 35004845 H =73
QBB S B 1E167M BEr#A2000M x 59 =167
7 REEEE 1= 679 OBEMXELE M 30M
EX 2B %t it (2485 {A%]) 365 H % 10000+ 124 A + 9007 =338H
QRLEEEHE 280000--900F =311
8 BEEEREE | 1X 12M 130000124 B +900F =12
9 e - E 144 400 360000 900=400
10 HRE 1= 141 2159 X 10% LA T =220M LLF
=&t 2300

A 25300




